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5,789,000 5,707,000 82,000
700 AlZHIE 5,789,000 5,707,000 82,000
710 FYHIE 5,788,588| 5,707,000 81,588
714 E74H| 1,081,803| 1,067,545 14,258
300 FAOIH 1,081,803| 1,067,545 14,258
308 ARR|EHHSOIA 426,803 412,545 14,258
05 Zx|CAiZHEEE 426,303 412,545 14,258
o7z 242 ske2id BEa 14,258,0009 x 14| = 14,258
716 2|d] 4,160,371| 4,102,771 57,600
200 S| 701,460 697,060 4,400
201 YBkRH| 73,860 69,460 4,400
01 ARz 10,900 6,500 4,400
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4,400,000 x 1A = 4,400
300 FH0IH 3,458,911 3,405,711 53,200
307 2IZto]A 3,458,911 3,405,711 53,200
05 QIZIRERE 3,458,911 3,405,711 53,200
ORY ORSstea2)3 2a|ohy 53,200,000 x 14 = 53,200
751 Lgkza|d| 546,414 536,684 9,730
100 Q7| 172,524 171,444 1,080
106 2243HAY| 8,460 7,380 1,080
03 ESXYRE| 2,880 1,800 1,080
Orf2lgts| &3 (0%) - 714 (1,800,000%) = A1,800
OEZYREH| 2,880
-37|8EAL 32 80,0009 x 3Y x 12¢ = 2,880
200 =74 370,650 362,000 8,650
201 UoHRH| 45,650 37,000 8,650
01 ApRaeH| 43,750 35,100 8,650
OR8] 7,650
-dAZ224(Auto cad) O|8442 7,650,0009 x 14| = 7,650
oYY 1,000
-ALHAY S dol BIRlH He 1,000,0008 x 14| = 1,000
800 OflH|H] 412 0 412
801 OflH|H]| 412 0 412
801 OjH|H] 412 0 412
Ooj|H]H] 412,000 = 412 412 0 412




